CITY of NOVI CITY COUNCIL

Agenda Item C May 19, 2008

cityofnovi.org

SUBJECT: Approval to award the bid for Debris Removal (West Road Location) to Bob Myers Excavating, Inc., the low bidder, in the amount of \$39,550.00.

SUBMITTING DEPARTMENT: DPW

CITY MANAGER APPROVALY

EXPENDITURE REQUIRED	\$39,550.00
AMOUNT BUDGETED	\$100,000 estimated
APPROPRIATION REQUIRED	N/A _
LINE ITEM NUMBER	210-211.00-872.000

BACKGROUND INFORMATION:

This bid is for the removal of approximately 6,000 - 7,000 yards of miscellaneous debris that has been generated through department operations and has been collected and deposited on City property located on West Road near the Novi Waste Water Treatment Plant. The site has reached its stockpiling capacity and is beginning to impede soil erosion maintenance. Proper removal and disposal of debris is a requirement within the City's Storm Water Master Plan. The debris consists of non-hazardous materials including catch basin sediment, block and brick from catch basin rehabilitations, ditching materials (dirt), broken concrete and asphalt from paving projects, boulders, street sweeping soils, and material from water main and sanitary sewer main repairs.

Fifteen bids were received and reviewed. Staff visited the site and met with Bob Myers Excavating personnel. Bob Myers is the low bidder and satisfied the bid requirements.

RECOMMENDED ACTION: Approval to award the bid for Debris Removal (West Road Location) to Bob Myers Excavating, Inc., the low bidder, in the amount of \$39.550.00.

	1	2	Y	N
Mayor Landry				
Mayor Pro Tem Capello				
Council Member Crawford				
Council Member Gatt				

	1	2	Υ	N
Council Member Margolis				
Council Member Mutch				
Council Member Staudt				

CITY OF NOVI DEBRIS REMOVAL - WEST RD. LOCATION BID TAB

MAY 7, 2008

	Questionnaire					
Company	Included?	Cu Yds	Cost per cu.yd.	Total	Location of disposal site	Comments
					concrete crusher, landfill, and	
Bob Myers Excavating	yes	7,000	5.65	39,550	our yard	
						If feasible, would like to screed good
					Copeland Crushing, Bentley	topsoil at site. Would be willing to sell
					Sand & Gravel, Ashley Land	back to City, screened topsoil at \$5.00
Luke's Trucking	yes	7,000	6.87	48,090	Development	per yard if interested.
-					Veolia/Debris, Peake/Stumps	
					and various crushers for	
Ahern Contracting	yes	7,000	7.94	55,580	concrete/asphalt	included certificate of insurance
Summit Transport	yes	7,000	9.90	69,300	various locations & landfills	
					N of Ten Mile, E of Milford Rd.;	
					broken concrete to Novi	
South Hill Construction	yes	7,000	10.75	75,250	Crushed Concrete	
Ellsworth Industries	yes	7,000	11.00	77,000	Woodland Meadows	
						Aggregates, metal & wood debris will be
Environmental Wood					Environmental Wood Solutions,	separated for recycling. Soil will be
Solutions	yes	7,000	12.00	84,000	FPT Pontiac, Newark Aggregate	separated and screened for reuse.
Midtown Aggregate	yes	7,000	12.75	89,250	Veolia	
					Veolia Landfill, Saul Hills Trail	
VMX International	yes	7,000	13.67	95,690	(Allied)	
Lukas & Sons	yes	7,000	14.70	102,900	Veolia/Arbor Hills	
Osburn Industries	yes	7,000	14.75	103,250	Allied / Saulk Trails	Loads based on 40 yd deliveries
D & D Water & Sewer	no	7,000	16.00	112,000	Veolia Landfill	
					Regulated Resources, Sauk	Concrete may be separated for
Homrich Inc.	yes	7,000	18.66	130,620	Trail, Rockwood Landfill	recycling.
Capital Waste	yes	7,000	19.85	138,950	Riverview Land Preserve	
Downriver Maintenance			16.75 Veolia		Veolia - Dirt & Debris, Copeland	
Corp.	yes	7,000	7.80 Copeland	TBD	Cement	subcontractor - R & E Trucking



cityofnovi.org

Bid submitted by:

CITY OF NOVI, MICHIGAN **PURCHASING DEPARTMENT**

45175 W. TEN MILE RD. NOVI, MI 48375

DEBRIS REMOVAL - WEST ROAD LOCATION SIGNATURE FORM

Name (printed) MCMQ Company (Legal Registration) Address 8111 Harmel State M Telephone \$\foatin{O}\$ Fax Signature Date For information on responding to this bid, contact Sue Morianti - Purchasing Manager, at

Submittal of Bids: Bids must be delivered prior to the due date and time specified above to the City of Novi, Purchasing Department, 2nd floor, 45175 W. Ten Mile Rd., Novi, Michigan 48375. Bids must be submitted by person or mail. Faxed quotations will not be accepted.

THE BID ENVELOPE MUST BE IDENTIFIED WITH THE FULL BID NAME AND DUE DATE.

THIS PAGE IS PAGE ONE OF THE PROPOSAL FORM. FAILURE TO SUBMIT PRICING ON THE PROPOSAL FORM PROVIDED BY THE CITY OF NOVI MAY CAUSE THE BID TO BE CONSIDERED NON-RESPONSIVE AND INELIGIBLE FOR AWARD.

NOTICE TO BIDDERS:

smorianti@citvofnovi.org

The City of Novi officially distributes bid documents through the Michigan Intergovernmental Trade Network (MITN). Copies of bid documents obtained from any other source are not considered official copies. The City of Novi cannot guarantee the accuracy of any information not obtained from the MITN website and is not responsible for any errors contained by any information received from alternate sources. Only those vendors who obtain bid documents from the MITN system are guaranteed access to receive addendum information, if such information is issued.

If you obtained this document from a source other than the source indicated, it is recommended that you register on the MITN site, www.govbids.com, and obtain an official copy.



CITY OF NOVI PROPOSAL FORM (REVISED)

We the undersigned as bidder, propose to furnish to the City of Novi, according to the conditions and instructions attached hereto and made a part thereof according to the attached terms and conditions.

DEBRIS REMOVAL - WEST ROAD LOCATION

A. Loading, Removal & Disposal of debris

Estimated Cubic Yards	Cost per cubic yard	Total cost
7000	\$5.65	8-20 ESC 00

Location of approved disposal site: Concrete Crisher, Landful and
our yard.
EPA permit number: not required
We acknowlege receipt of the following Addendums: (please indicate numbers below)
addendum#1 april 29, 2008
Comments:



CITY OF NOVI DEBRIS REMOVAL - WEST ROAD LOCATION

SPECIFICATIONS

LOCATION: 46351 West Road, Novi, MI 48377 (enter from West Park Drive just south of the Novi Waste Water Treatment Plant)

SITE VISIT HOURS: If you would like to inspect the debris pile before bidding, please Tim Sikma (248) 343-1296 or Chris Quick (248) 343-5903 to schedule an appointment.

SERVICE HOURS: 8:00 A.M. - 3:00 P.M., Monday - Friday

SCOPE OF SERVICE:

The City of Novi is seeking proposals for the removal and disposal of debris and non-hazardous materials at the location listed above.

There are approximately 6,000 – 7,000 yards of miscellaneous non-hazardous debris collected over the last 3 years. The debris consists of catch basin sediment, block and brick from catch basin rehabilitations, ditching materials (dirt), broken concrete and asphalt (paving work), boulders, street sweeping spoils, and material from water main and sanitary sewer main repairs.

Contractor will load the trucks and provide their own equipment for this task.

Contractor will be solely responsible for compliance with weight laws, tarping loads, and tracking of material.

The City is not liable for any damage to dump boxes as the result offloading and hauling.

Price is to be quoted on a per cubic yard basis, including removal, disposal fees, fuel surcharges, and any other applicable fees. Contractor shall not break out any costs separately on this bid.

Contractor must be able to haul a minimum of twenty-eight (28) yards of debris per load and haul at least ten (10) loads per day.

The Contractor must include with his bid the location of the approved disposal site and EPA permit number.

The debris is ready for pick up. No new debris will be added to the pile you are bidding on as of the date this bid is issued.

TIMELINE:

We plan to award the contract at the May 19, 2008 Council meeting. A purchase order will be issued on May 20th. Work can commence immediately after receipt of purchase order AND after we have received your certificate of insurance. Work is to be finished by June 30, 2008.

INSURANCE REQUIREMENTS: See Attachment A